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Research is

Options :

1. Searching again and again

2. Finding a solution to any problem

3. Working in a scientific way to search for the truth of any problem
4. Working in a random way hoping that luck will deliver the goods
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How can one judge the depth of any research?
Options :

1. By the research title

2. By the research objectives

3. By the duration of research

4. By the total expenditure on research
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The first two steps in starting a Research program are:

Options :

1. Identifying the Research Problem and then Extensive Literature Survey
2. Collecting data and then analysing it

3. Literature Survey followed by data collection

4. None of these
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Why do you need to review the existing literature?
Options :



1. To make sure you have a long list of references

2. Because without it, you could never reach the required word-count
3. To find out what is already known about your area of interest

4. To help in your general studying
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A formal document that presents the research objectives, design of achieving these objectives, and the expected outcomes of the study is
called:

Options :

1. Research design

2. Research proposal
3. Research hypothesis
4. Research report
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What are the core elements of a Research Process?

Options :

1. Introduction; Data Collection; Data Analysis; Conclusions and Recommendations

2. Executive Summary; Literature Review; Data Gathering; Conclusions; Bibliography

3. Research Plan; Research Data; Analysis; References

4. Introduction; Literature Review; Research Methodology; Results; Discussion and Conclusions

Question Number : 6 Question Id : 540073306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

XY UfehaT & TS ded T 82

Options :
lw,%ﬂw,%w,mﬁw

2. WW; w%watﬂ&rr; 3?[@_5', ﬁ'@ﬁf; ‘jQI-"V'Eﬂ



3. ST IS, SraUT Ser; fazayur, Te
4. U=, Tnfee e, srgaem forar fafdr; afvome; ==t oik feed

Question Number : 7 Question Id : 540073307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is true regarding research objectives?

Options :

1. Research objectives, when achieved, will provide sufficient earnings to obtain a reasonable return on investment.
2. Research objectives, when obtained, will ensure the viability of the marketing research department.

3. Research objectives, when achieved, provide the information necessary to solve the problem.

4. Research objectives are seldom achieved
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A research scholar gets his PhD degree based on:

Options :

1. The number of years he spends as a scholar followed by passing a Viva Voce examination
2. The hard work he puts in as a scholar followed by passing a Viva Voce examination

3. Solely fulfilling the minimum required attendance

4. The positive evaluation of his Research thesis followed by passing a Viva Voce examination
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The quality of any research can be gauged by :

Options :

1. The publication of the research work in Peer reviewed Journals
2. The publication of the research work in local newspapers

3. The publication of the research work in popular magazines

4. poster presentations
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Data collection in research in the sciences usually consists of :
Options :

1. Experimental data or computations

2. Surveys through personal interviews

3. Surveys through telephonic interviews.

4. By mailing of questionnaires
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Which of the following activities can be considered a part of Research work?:

Options :

1. Partaking in the teaching and administrative activities of the department

2. Teaching students with patience and dedication the existing theories

3. Deriving pleasure in solving text book problems

4. Creating and proposing a novel and hitherto unknown theory or mathematical model
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A researcher always looks to publish his work in an important high quality journal. One way to identify the quality of a journal is by :
Options :

1. The selling cost of each issue of the journal

2. The Impact factor; the higher it is the better the journal

3. The money charged for each publication

4. None of these
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A research paper includes among other things :

Options :

1. Description of the output or findings of research work
2. Contains a research proposal

3. Is a well written fictional story

4. Is a list of daily research activity
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A journal generally publishes a research paper :

Options :

1. Only if the publication fee is credited

2. Only after it is reviewed and recommended by independent experts
3. Provided the paper is well written irrespective of the content.

4. Provided the Authors testify that the paper may be accepted
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A research work which aims to find a solution for a practical problem facing society or an industrial organization is called:
Options :

1. Empirical research

2. Fundamental Research

3. Conceptual research

4. Applied Research
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Research which works on the formulation of a sound theory to explain a phenomenon is:
Options :

1. Applied Research

2. Empirical research

3. Theoretical /Fundamental Research

4. Conceptual research
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A kind of theory which is not based on solid basic science but manages to explain some observable or experimental phenomenon is
called:

Options :
1. Applied research.
2. Empirical research



3. Fundamental research
4. Conceptual research
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Research in which statistical, mathematical, or computational techniques are applied to obtain accurate results is called:
Options :

1. Applied Research

2. Empirical research

3. Fundamental Research

4. Quantitativeresearch

Question Number : 18 Question Id : 540073318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR foH Ttes ufRkumy uTe H3A & fore qifteges iy, TIOTia a1 Hrgea ddb-iid! &l a1 fahdl oiTdl &, Heardl &:
Options :

1. Twss Rad

2. IHIS SHY

3. QT SrgRie™

4. AETHSD SIHUH

Question Number : 19 Question Id : 540073319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Formulation of research problem is the step in which:
Options :

1. The data is collected

2. The literature is reviewed

3. The research problem is identified

4. The research tools are identified and readied

Question Number : 19 Question Id : 540073319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST THR T feyur a8 =aRur § fored:

Options :

1. ST U&7 {1 STl 3, T &1 qHie &1 St o

2. e B e I &l §

3. ST JHR S UgdH &1 offcll §

4. ITHYT IYHRVN D1 UgdT B} STt & 3R I8 IR fHar S g



Question Number : 20 Question Id : 540073320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The reason why a list of references or bibliography is added at the end of a research paper or report is :
Options :

1. To increase the number of pages in the paper or report

2. To provide readers with references for further research

3. To prove that the work is genuine

4. To prove that the Authors surveyed the literature
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A research article or paper begins with which of the following:
Options :

1. Abstract

2. List of references

3. Introduction

4. Conclusions
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Research design is :

Options :

1. Collecting references

2. Identifying the field of research

3. Laying the framework for conducting the research program
4. data collection
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A concise summary of the research work in a report is called :
Options :

1. Abstract

2. Title

3. Results and discussion

4. Conclusions
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A research article which is not original work but is copied from others:
Options :

1. is legally permissible

2. is unethical and is called plagiarism

3. is allowed after paying a fine

4. None of these
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Intellectual property right gives an inventor or creator :
Options :

1. the right to buy or sell land



2. control over the invention/creation
3. manage one’s property
4. None of these
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One way to protect your intellectual property is through a:
Options :

1. Newspaper advertisement

2. Publicizing through Youtube

3. Patent

4. None of these
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Publishers of Journals and books prevent the duplication of their papers/books via:
Options :

1. Warning signs on the covers

2. Copyright law

3. Placards

4. None of these
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The smallest value that can be measured by a measuring instrument is called:
Options :

1. Least count

2. Accuracy

3. Error

4. None of these
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The visible spectrum of light lies between the wavelengths:
Options :

1. 100 nm to 400 nm

2.400 nm to 700 nm

3. 100 nm to 1000 nm

4. 800 nm to 1200 nm
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1. 100 nm ¥ 400 nm

2.400 nm ¥ 700 nm

3. 100 nm ¥ 1000 nm

4. 800 nm T 1200 nm
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The magnification M of a two stage compound microscope having magnifications M1 and M2 for the two stages is:

Options :

I.M=MI-M2
2. M=MI1/M2
3. M=MI+M2
4. M =M1 x M2
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Options :

.M =MI-M2
2.M=M1/M2
3. M =Ml +M2
4. M=MIxM2
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The Ozone layer around the Earth is important because it :
Options :

1. Prevents the carbon dioxide from entering the Earth

2. Stops the infra-red light from entering the Earth

3. Prevents the harmful UV light from entering the Earth
4. Directly causes the greenhouse effect
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Fossil fuels like Petroleum, natural gas and coal release CO2 and other pollutant gases which :
Options :

1. cause global warming due to the Green house effect

2. lead to enhanced greenery on the Earth

3. lead to global cooling resulting to the freezing of the oceans.

4. None of these
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The sky appears blue in the day time because:
Options :

1. Sunlight is completely blue



2. The molecules in the atmosphere predominately scatter the blue wavelength of sun light
3. The clouds produce their own light which is blue
4. None of the se
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Heat is a form of energy which is measured in :
Options :

1. Pounds

2. Watts

3. Watt-hours

4. Calories
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1. US|

2. e H

3. gcde H

4 PAH
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One unit of Electricity equals:
Options :

1. 100 Watts

2. One Watt

3. One Kilo Watt hour

4. One Watt hour
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Which statistical measure is used to describe the dispersion of data around the mean?
Options :

1. Median

2. Mode

3. Variance

4. Skewness
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1. ATferepT

2. 1S

3. URT

4. T
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Which statistical test is used to compare means between two groups?
Options :

1. Chi-square test

2. t-test

3. Z test

4. None of these
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In a normal distribution, roughly what percentage of data falls within one- standard deviation of the mean?
Options :

1.0.45

2.0.5

3.0.68

4.0.95
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Options :

1.0.45

2.0.5

3.0.68

4.0.95
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Which of the following statements about the normal distribution is true?
Options :

1. It is a discrete probability distribution

2. The mean, median, and mode are equal.

3. The area under the curve is always less than 1.

4. It is either positively or negatively skewed
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What does the term “p-value” stand for in hypothesis testing?
Options :

1. Probability value

2. Population value

3. Percentage value

4. Power value
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2. ST Hed
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4. Tfed e
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What does the term “standard deviation” represent in statistics?
Options :

1. The average value of a dataset



2. The difference between the highest and lowest values in a dataset
3. The spread or dispersion of data points around the mean
4. The proportion of data points that fall within one standard deviation
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A small “standard deviation” for a given set of data means:
Options :

1. The data are tightly clustered around the mean

2. The number of data points are insufficient for study

3. The number of data points are too large for study

4. The range of the data is zero
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What is the purpose of a Z-test in hypothesis testing?

Options :

1. To compare the means of two independent groups

2. To compare the means of two paired groups

3. To compare the means of three or more independent groups

4. To compare the mean of a population to the mean of a sample within that population
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In a chi-square test, what does the null hypothesis state?

Options :

1. There is a significant difference between the observed and expected frequencies.
2. There is no significant difference between the observed and expected frequencies.
3. The population proportion is equal to the sample proportion.

4. The population mean is equal to the sample mean.

Question Number : 44 Question Id : 540073344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTS-WPTIR TRIEUN &, YT RGBT 1 Tl 82

Options :

1. Ofrd 3R 3riféra amgfRl & e T Heayul SR B

2. Ufard SR sufard sgfedl & o s Agayul 3idR 781 5

3. SRS S{UTd THAT 3FUTd P SRR g
4. STEREAT HTed Ufasl 11 & RER g |

Question Number : 45 Question Id : 540073345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a chi-square test, what does the chi-square statistic represent?
Options :

1. The probability of a Type I error

2. The measure of effect size

3. The difference between the observed and expected frequencies
4. The probability of a Type II error
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Which statistical test is used to analyse the association or link between two categorical variables?
Options :

1. T-test

2. Chi-square test

3. Z test

4. None of these
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A statistical process of analysing and combining results from several similar studies is called :
Options :

1. Meta analysis

2. Correlation analysis

3. Regression

4. Error analysis To ensure the sample size is large enough
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Which statistical measure is used to describe the strength and direction of a linear relationship between two continuous variables?
Options :

1. Median

2. Mode

3. Correlation coefficient

4. Standard deviation
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A Pilot study in research is:

Options :

1. A preliminary study used to study the feasibility of a project



2. A final study ready for take-off
3. used when it becomes clear that the work will be abandoned
4. a seminar to showcase the research output
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What is the purpose of blinding in a clinical trial?

Options :

1. To keep the researchers unbiased

2. To keep the participants unaware of the treatment they receive
3. To prevent confounding variables from affecting the results

4. To ensure the sample size is large enough
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Amongst the properties {reflexivity, symmetry, antisymmetry, transitivity} the

relation R={(a,b) € N2 | al= b} satisfies property.

Options :

1. Symmetry

2. Transitivity

3. Antisymmetry
4. Reflexivity
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A program P reads in 500 integers in the range [0..100] representing the scores of 500 students. It then prints the frequency of each score
above 50. What would be the best way for P to store the frequencies?

Options :

1. An array of 50 numbers

2. An array of 100 numbers

3. An array of 500 numbers

4. A dynamically allocated array of 550 numbers

Question Number : 52 Question Id : 540073352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TH U Ut 500 BT & 3fah! &1 UfAMTIE B a1 [0..100] 391 H 500 YOIt H Ueal g | iR T8 50 ¥ HWR TS TR HI Mg
fife HRar 81 Ut & forw sgfrt &t et ok 1 Ta ST aRidhT &t R

Options :

1. 50 Teasfi ®t U TRl

2. 100 A3 BT T TROM

3. 500 TRAT3 DI Teh TROA

4. 550 =TS Bt Uep TRl =0  3rrdifed roft

Question Number : 53 Question Id : 540073353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How does C++ compiler differs between overloaded postfix and prefix operators?
Options :

1. C++ doesn't allow both operators to be overloaded in a class



2. A postfix ++ has a dummy parameter
3. A prefix ++ has a dummy parameter
4. By making prefix ++ as a global function and postfix as a member function.
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What will be the output of following code snippet?
<style h1 {color: green;}>

<hl>Hello</h1>
Options :
1. hl heading becomes green
2. error
3. h1 heading disappears
4. nothing happens
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Which of the following CSS3 property specifies the alignment of the replaced element inside its box?
Options :

1. object

2. object-align

3. object-position



4. object-render
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In C++ The compiler determines the type used in a template function via
Options :

1. the name of the function

2. the first variable declared within the function

3. the type of the argument passed to the function

4. the type of the value returned from the function

Question Number : 56 Question Id : 540073356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C++ T HUTZR & T § e BaRMH § Wgad UHR &I FHufia sxarg
Options :

1. R &7 9

2. oM o HidR 9fd Ugall aRTsa

3. HaRH B! fAT T I BT YHR

4. TR ¥ AICTT 7T A &1 THR

Question Number : 57 Question Id : 540073357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following operators is used to generate instance of an exception which can be thrown using throw?
Options :

1. thrown

2. alloc

3. malloc

4. new

Question Number : 57 Question Id : 540073357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafafed # 3 f5y 3iTRex BT ITTNT 3UdTE BT I I B P foTE fHa1 STa & o Y BT ITANT HRP BT T Tebell 82

Options :
1. thrown
2. alloc

3. malloc

4. new



Question Number : 58 Question Id : 540073358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of these class can be used to implement the input stream that uses a character array as the source?
Options :

1. BufferedReader

2. FileReader

3. CharArrayReader

4. FileArrayReader

Question Number : 58 Question Id : 540073358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T8 I forg ¥ 1 IUGIT 39YC W &1 AN - & fore fham ot Gahr § S Hid & &0 § U quf Rl 67 SUGRT Rl 82
Options :

1. BufferedReader

2. FileReader

3. CharArrayReader

4. FileArrayReader

Question Number : 59 Question Id : 540073359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When you declare a pointer, you must giveita
Options :

1. type

2. type and name

3. type, name, and value

4. name and value

Question Number : 59 Question Id : 540073359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I 3 Th Jab DI HRA &, A AUHI Y SAT|T
Options :

1. PR

2. YBR SR A

3. UHR, 7 3R T4

4.9 3R g

Question Number : 60 Question Id : 540073360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Unlike fopen (), result of fclose () does not need to be assigned
Options :

1. To a variable

2. To a string

3. To a function

4. To a parameter

Question Number : 60 Question Id : 540073360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fopen( ) P TAURIG, felose( ) P TRUTH BT SIS B B STAThd el



Options :

. T W& fag

2. U R & fore

3. frdh gmRIE & forg
4. T MR & forg

Question Number : 61 Question Id : 540073361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is Cell Padding in HTML?

Options :

1. It specifies the space between the cell content and its borders.

2. It specifies the space between the cell content and its headings.

3. It specifies the space between the cell content and its formatting.
4. Tt specifies the space between the cell content and its descriptions.

Question Number : 61 Question Id : 540073361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HTML & 39 W& @ 82
Options :

1. T8 o IRl 3R 39! ATt & ofe &1 v Aféy sar g
2. U8 7 It 3R I et & die o1 =i fRfdy axar g1
3. 8 I It 3R ST WU & &1 & RIF B Gy gl
4. T8 U1 1 TR SR IS fAaRur & dig & RIF &) Ay srarg|

Question Number : 62 Question Id : 540073362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To use either an input or output file, the program must include the  header file
Options :

1. filestream.h

2. fstream.h

3. instream.h

4. inoutstream.h

Question Number : 62 Question Id : 540073362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foef 37YC T STSTYC WISd BT STAN HIA & [T, UIHH 5 Wi QMMH gi- a1fey
Options :

1. filestream.h

2. fstream.h

3. instream.h

4. inoutstream.h

Question Number : 63 Question Id : 540073363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What does C++ append to the end of a string literal constant?
Options :

1. a space

2. a number sign (#)



3. an asterisk (*)
4. a null character

Question Number : 63 Question Id : 540073363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C++ % &7 Anfeder RIS & 3fd H o1 ST 82
Options :

1. Th RITH

2. U5 O g (#)

3. T AR g ()

4.TH I quf

Question Number : 64 Question Id : 540073364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What was originally called the "imitation game" by its creator?
Options :

1. The Turing Test

2. LISP

3. The Logic Theorist

4. Cybernetics

Question Number : 64 Question Id : 540073364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

O fAfdT 3 ga ©u § Al WA g HeT U
Options :

1. R

2. fere

3. fa <iifoie e

4. grEaAfcaq

Question Number : 65 Question Id : 540073365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A network with named nodes and labelled arcs that can be used to represent certain natural language grammars to facilitate parsing.
Options :

1. Tree Network

2. Star Network

3. Transition Network

4. Complete Network

Question Number : 65 Question Id : 540073365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A e 3R Sae T 31 aTell Teb Aeads fordeT SunT gkt &t giaen 3 1w 5o Uiesfies {1 el &1 ufifiia &
¥ forg fpar ST awar g1

Options :

1. & eads

2. ¥R Jedd

3. SRR Aeads

4. HIIC Jedd



Question Number : 66 Question Id : 540073366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The best normal form of relation scheme R(A. B, C, D) along with the set of functional dependencies F = {AB — C,AB — D,C — A, D
— B} is

Options :

1. Boyce-Codd Normal form

2. Third Normal form

3. Second Normal form

4. First Normal form

Question Number : 66 Question Id : 540073366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ﬂ'ﬁiwﬂx—ﬂ%m. B, C, D) &1 I 33T YMHG T HRATHD HHRAT S Y & WY F = {AB — C,AB — D, C — A, D — B}

Options :

1. ST9-Plg Anid Wi
2. Y€ Frfa Wi

3. s Arda wid

4. BRE Arda Wi

Question Number : 67 Question Id : 540073367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Identify the minimal key for relational scheme R(A, B, C, D, E) with functional dependencies F = {A — B, B — C, AC — D}
Options :

I.LA

2.AE

3.BE

4.CE

Question Number : 67 Question Id : 540073367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FHrafd® FIHRATF = {A - B, B — C, AC — D} & II) YRS IS R(A, B, C, D, E) & AT 7qH groft Bt Ugd™ Hi |
Options :

1.A

2.AE

3.BE

4. CE

Question Number : 68 Question Id : 540073368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Natural language processing is divided into the two subfields of:
Options :

1. symbolic and numeric

2. time and motion

3. algorithmic and heuristic

4. understanding and generation



Question Number : 68 Question Id : 540073368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T UTNT TRIRhRUT &1 &l Juast & fauiford fasar man &:
Options :

1. Uit 3R T-ATHS
2. 9T 3R A

3. TENRYT 3R A
4. AT 3R ITHT BT

Question Number : 69 Question Id : 540073369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The strategy of allowing processes that are logically runnable to be temporarily suspended is called
Options :

1. preemptive scheduling

2. non preemptive scheduling

3. shortest job first

4. first come first served

Question Number : 69 Question Id : 540073369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e =0 A Tem qra ufparel & srurl wu J Fafdd $33 # Al 37 1 U &) Ber ST g
Options :

1. fiAfa sy

2. R UiAfRe eygfe

3. o BICT B Ugel

4. g 3137 Ugdl Ursh

Question Number : 70 Question Id : 540073370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the LRU algorithm

Options :

1. pages out pages that have been used recently

2. pages out pages that have not been used recently
3. pages out pages that have been least used recently
4. pages out the first page in a given area

Question Number : 70 Question Id : 540073370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ARG TAReH o

Options :

1. 3 U1 &I g1 ¢ o1 31 81 H JUaNT fovan 1am §

2. 39 gSi Y g1 & oot g1d &) & SuahT -1el fopan man &

3. 3T YR &I ger ¢ et 81d 8 & 9a S SNt [ T §
4. Tt fu 7T &= # ugl 4y ! ser Fabrel

Question Number : 71 Question Id : 540073371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



For a data entry project for office staff who have never used computers before (user interface and user-friendliness are extremely
important), one will use

Options :

1. Spiral model

2. Component based model
3. Prototype model

4. Waterfall model

Question Number : 71 Question Id : 540073371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FHrITag ATl & o Ser ufaf® aRaer & fore 61 ugd Huft dugeR &1 IuanT 8 fhan § (SuaiTadl $evthd 3R
ST ALl 988 Hewayul 8), PIS 3HDT STAN BT

Options :

1. fta dred

2. U YR Hisd

3. Melersy Alsd

4. GBI AlSd

Question Number : 72 Question Id : 540073372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which possibility among the following is invalid in case of a Data Flow Diagram?
Options :

1. A process having in-bound data flows more than out-bound data flows

2. A data flow between two processes

3. A data flow between two data stores

4. A data store having more than one in-bound data flows

Question Number : 72 Question Id : 540073372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST AT 3T & AW § Fafifed & 9 &F I Suyrer oM 82
Options :

1. T Uforan forad SAaTSS ST HaTe $M13e-a19S Sl UaTg ¥ $fed il §
2. A Ufshansf & s STl garg

3. STTER & s ST va18

4. T ST ©R s 1o I oI 37-919S el vaTg gt g

Question Number : 73 Question Id : 540073373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Thrashing

Options :

1. is a natural consequence of virtual memory systems
2. can always be avoided by swapping

3. always occurs on large computers

4. can be caused by poor paging algorithms

Question Number : 73 Question Id : 540073373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

RINI

Options :



1. T3 AR ey &1 Ueb WrHTiaes uikomd §
2. W7 § gH= = o Ghall &

3. GORN 98 YR WEAT &

4. TRTE ST TefReH & BRI §) Tehdl §

Question Number : 74 Question Id : 540073374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following addressing modes, facilitates access to an operand whose location is defined relative to the beginning of the data
structure in which it appears?

Options :

1. ascending
2. sorting

3. index

4. indirect

Question Number : 74 Question Id : 540073374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafaiea & o9 w1 TSR A, Te TS 9% Ugd &t faeT UeH HRdl § e R 39 ST TRa-T & YF3MTd & J1aef
iy gl & foras g fears gar @

Options :

1. SRS

2. i

3.3
4. ZTSTAGE

Question Number : 75 Question Id : 540073375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following are loaded into main memory when the computer is booted?
Options :

1. internal command instructions

2. external command instructions

3. utility programs

4. word processing instructions

Question Number : 75 Question Id : 540073375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HHER ¢ gF R FFfafed § ¥ H go7 76K # dlS 81 82
Options :

1. 3ffafes sme=r Fdw

2. TR e Fgw

3. SUAIRT HRIHH

4. Teg YETHRUT Fdw

Question Number : 76 Question Id : 540073376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Fragmentation of the file system

Options :

1. occurs only if the file system is used improperly



2. can always be prevented
3. can be temporarily removed by compaction
4. is a characteristic of all file systems

Question Number : 76 Question Id : 540073376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bed ey &1 faged

Options :

1. T8 9t 81T & 51e rsd Rieed &1 SigfRid IuanT o orar &
2. AN RIBT o Geball &

3. O gRT SRR =Y g off Yebell &

4. 78 9t B1d Riey &) te fagivar g

Question Number : 77 Question Id : 540073377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following are(is) Language Processor(s)
Options :

1. assemblers

2. compilers

3. interpreters

4. All of these

Question Number : 77 Question Id : 540073377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fFoffed o ¥ S HToT TR §
Options :

1. ST

2. HHZERY
3. g0
4.9t

Question Number : 78 Question Id : 540073378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Data scrubbing is which of the following?

Options :

1. A process to reject data from the data warehouse and to create the necessary indexes
2. A process to load the data in the data warehouse and to create the necessary indexes
3. A process to upgrade the quality of data after it is moved into a data warehouse

4. A process to upgrade the quality of data before it is moved into a data warehouse

Question Number : 78 Question Id : 540073378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sorwhfa Fafafea Ay warg?

Options :

1. ST AIRETSY U 32T Bl SRATHR B 3R HTTRAD SHHHT S B T Ueha
2. ST IIRETIY H ST IS TR 3R 3D S §-1 BI U Ufehar

3. STT IARBISY T of M & §1G Sl B! UTal Dl IFd B $i Ueb Ufeha

4. 3T FRETSY T A O V Ug ST Y T[UTa Bl I B BI T Ufchar



Question Number : 79 Question Id : 540073379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A relation is in this form if it is in BCNF and has no multivalued dependencies:
Options :

1. second normal form.

2. third normal form.

3. fourth normal form.

4. domain/key normal form.

Question Number : 79 Question Id : 540073379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PIE WY 39 T H Il § Ife 98 SIATTAUG H § 3R SUD| HIS SgHeId (HRAT T8l 8-
Options :

1. Y Fifa wid

2. Y A wid

3. v e i

4. SRR e i

Question Number : 80 Question Id : 540073380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not defined in a good Software Requirement Specification (SRS) document?
Options :

1. Functional Requirement.

2. Nonfunctional Requirement.

3. Goals of implementation.

4. Algorithm for software implementation

Question Number : 80 Question Id : 540073380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fafifad & 3§ o9 @ 9 3 TiredR axasdl [afe fRieT (SRS) S&aae & uRHIid gt 82
Options :

1. PTAHD MaFHdT|

2. IR-PTATHES TS|

3. HAa & q&d|

4. IR BRI P foTU TAREH|

Question Number : 81 Question Id : 540073381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is not a step of Requirement Engineering?
Options :

1. Requirements elicitation

2. Requirements analysis

3. Requirements design

4. Requirements documentation

Question Number : 81 Question Id : 540073381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Y I T ATHT NGB! BT Th TRUT T8} 82
Options :

1. 3TIRIH AT GaeT

2. AT H T AW

3. JARTH T fSeis
4. 3TIRGH T GIATANHRT

Question Number : 82 Question Id : 540073382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Modifying the software to match changes in the ever changing environment is called
Options :

1. Adaptive maintenance

2. Corrective maintenance

3. Perfective maintenance

4. Preventive maintenance

Question Number : 82 Question Id : 540073382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

gRac=e aRa=T & aRac! &I fiam & g SigeaaR S GNTed S HEA 5|
Options :

1. AP I{@ATq

2. WEI TERE

3. QUITTAITR G Y@ETa

4. FaR® @@

Question Number : 83 Question Id : 540073383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the property of transaction that protects data from system failure?
Options :

1. Atomicity

2. Isolation

3. Durability

4. Consistency

Question Number : 83 Question Id : 540073383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fraffed # @S- e o Hufa 3 5 yomeht fawad & Se1 1 wRfad st 82

Options :

1. 3{ULAT
2. e

3. RRRar
4. GIddm

Question Number : 84 Question Id : 540073384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which is the lowest level of abstraction that describes how the data are stored?
Options :

1. Physical



2. Abstract
3. View
4. User

Question Number : 84 Question Id : 540073384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
g HH-U Gad 9 TR B [aRYRT 8 & ST 1 Y Hierd fosan 71 § 98 0 dail 52
Options :

1. Mifaes
2. 3

3. T
4. STANTH Al

Question Number : 85 Question Id : 540073385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following format is used to store data?
Options :

1. Decimal

2. Octal

3. BCD

4. Hexadecimal

Question Number : 85 Question Id : 540073385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST B! TId A & AT DI AT URSY YART fosam Sl 52
Options :

1. qRHeld

2. 3dcd

3.BCD

4. gTSTH

Question Number : 86 Question Id : 540073386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
An 8-bit microprocessor signifies that?
Options :

1. 8-bit address bus

2. 8-bit controller

3. 8-interrupt lines

4. 8-bit data bus

Question Number : 86 Question Id : 540073386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TS 8-foT ATS IR &1 &1 37 82
Options :

1. 8-fac g sy

2. g-fae e

3. 8-S AT

4. 8fqc STy



Question Number : 87 Question Id : 540073387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The program counter in a 8085 micro-processor is a 16-bit register, because?
Options :

1. It counts 16-bits at a time

2. It has fetch two 8-bit data at a time

3. It facilitates the user storing 16-bit data temporarily

4. There are 16 address lines

Question Number : 87 Question Id : 540073387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

8085 TTI5H! TR H TR HT3R 16 fae e 8, &ifes ..

Options :

1. 98 UH THT | 16 focy a8

2.3 UH qE A Al § e Seramr g

3. U8 SUGNTS! B! 16 ficd SeT ) SR &4 § Gueld B & gaum uem srare
4.16 TS ART B

Question Number : 88 Question Id : 540073388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mechanism of allowing multiple tasks to run simultaneously on a single processor is known as:
Options :

1. Multi-threading

2. Multiprocessing

3. Multitasking

4. Multi-allocation

Question Number : 88 Question Id : 540073388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

THd TR R U 1Y $3 S| I I &1 Jg 9 [T &
Options :

1. Heel- AT

2. A IR

3. HeclelRep

4. Aed-3MTae

Question Number : 89 Question Id : 540073389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which component provides an interface between users and the operating system?
Options :

1. Kernel

2. Shell

3. File System

4. RAM

Question Number : 89 Question Id : 540073389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



DI T U YOIl 3R TRIET Ried & o9 Teh Sy U Bl 82
Options :

1. &d
2.3

3. B1gd RikeH
4.9

Question Number : 90 Question Id : 540073390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The part of machine level instruction, which tells the central processor what must be done, is
Options :

1. Operation code

2. Address

3. Locator

4. Flip-Flop

Question Number : 90 Question Id : 540073390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR TR & T & S Heia TR &) 9dTd1 ¢ f& o1 far s =nfee, a8 &
Options :

1. aTe Bie

2.4dl

3. dlber

4. foretu-TRATg

Question Number : 91 Question Id : 540073391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A single-bit error is more likely in a transmission while a burst error is more likely in a transmission
Options :

1. serial; parallel

2. parallel; serial

3. serial; multiplexed

4. duplex; parallel

Question Number : 91 Question Id : 540073391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

THa-foe I TH Toor & 31fre JUTEAT § Taifs S Ffe Teyor B 3 JuTaT 3|
Options :

1. YRTATIGD; GHDBE

2. GHDE; YRTdgD

3. YRTATR®; A RIRS

4. SWI; THDE

Question Number : 92 Question Id : 540073392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the ASCII "m" character is received as an "n" character, this is known as a
Options :

1. single-bit error



2. burst error
3. character error
4. byte error

Question Number : 92 Question Id : 540073392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

i TUEESMTE "m" GU1 BT "n" JUT P =0 H YT b1 STl §, 1 59 & FYH S g
Options :

1. Tha-fae e

2. 9K I

3.qui Ffe
4. 913 Ffe

Question Number : 93 Question Id : 540073393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following register can interact with the secondary storage?
Options :

1.PC

2. MAR

3. MDR

4. 1R

Question Number : 93 Question Id : 540073393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ol o ¥ 3 a1 IReR Jh e RS & T1Y W IR 96l 62
Options :

1. gt

2. THUR
3. TSR
4. 3SR

Question Number : 94 Question Id : 540073394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following circuit is used to store one bit of data?
Options :

1. Flip Flop

2. Decoder

3. Encoder

4. Register

Question Number : 94 Question Id : 540073394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fFrafafed # 3 1 91 9fdhe T e Se1 &1 Hfed 3 & forg v fova S &2
Options :

1. foTg oty

2. feplsr

3. ThIeR

4. IR



Question Number : 95 Question Id : 540073395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Subtraction in computers is carried out by -
Options :

1. 1's complement

2.2's complement

3. 3's complement

4.9's complement

Question Number : 95 Question Id : 540073395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SR F el &I T Sl g -
Options :

1. 1 PT RSP

2.2 DI RP

3.3 DI RD

4.9 BT R

Question Number : 96 Question Id : 540073396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following allows simultaneous write and read operations?
Options :

1. ROM

2. EROM

3.RAM

4. None of these

Question Number : 96 Question Id : 540073396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ol & S H1F THg-90g W TR 3R UgH & Tarer Bl SgHfd odT 87
Options :

1.ROM

2. EROM

3.RAM

4. DS TRI

Question Number : 97 Question Id : 540073397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Select the correct foreign key constraint?
Options :

1. Referential integrity

2. Entity integrity

3. Domain integrity

4. None

Question Number : 97 Question Id : 540073397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



e fac=it goit W o1 999 B2
Options :

1. Geufg sRasar

2. Gfed sRgsd

3. S SRgsd

4.P1s Tl

Question Number : 98 Question Id : 540073398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the property of transaction that protects data from system failure?
Options :

1. Atomicity

2. Isolation

3. Durability

4. Consistency

Question Number : 98 Question Id : 540073398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FafiRad & 9 oH-f Gared &t Sufi § S Jome [athadr ¥ SeT &l SRfad Sl 82
Options :

1. ST

2. 3AcTTd

3. RRar

4, GIddn

Question Number : 99 Question Id : 540073399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Aggregation represents

Options :

1. is_a relationship

2. part_of relationship

3. composed_of relationship

4. none of these

Question Number : 99 Question Id : 540073399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TEleRu @ ufaffR erar g
Options :

1.Th 3 Iy

2. fesd F1 ey

3. AT T ddY

4.1 T

Question Number : 100 Question Id : 540073400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a vectored interrupt?
Options :

1. TRAP



2. INTR
3.RST 7.5
4. None of these

Question Number : 100 Question Id : 540073400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafered # & IF Ueb dereR Siaew el 82
Options :

1.2

2.3R

3. 3RTHET 7.5

4. DI el



